
11th December                           Numeracy 5-a-day          

What fraction of this shape is 
unshaded?

Arrange in order from lowest to 
highest

0.2    0.18    0.202    0.3    0.27

Calculate 

4 x 1.3

The total value of the ten coins is £1.60. 
What coins did his mum put into the 
piggy bank?

The numbers in this sequence 
increase by the same amount each 
time.

Write in the missing numbers �

�

�
James puts six 20p pieces into the 
piggy bank.
His mum puts four of the same coin 
into the piggy bank.


